Questions using square and cube numbers

Section A
1. 4²
 = 

2. 8² = 

3. 5² = 

4. 10² = 

5. 2² = 

6. 7² = 

7. 9² = 

8. 12² = 

9. 11² =

10. __² = 49

11. __² = 16

12. __² = 100

13. __² = 25

14. ​​__² = 36

15. __² = 144

Section B

1)   4² + 1² = 

2)   3² - 1² = 

3)   5² - 2² = 

4)   3² + 2² = 

5)   6² + 2² = 

6)   4² + 1² =

7)   1² + 2² =

8)   2² - 1² =

9)   10² - 1² =

10) 6² - 4² =
11) 2²- 2² = 

12)  4² + 5² = 

13)  6² - 4² = 

Section C

1) 
      2³=
2) 
      5³=
3)   1² + 3³ = 
4)   3³ - 1³ = 
5) 5² - 3² = 
6) 7² + 1² = 
7)   6² + 2² = 
8)  8² + 4² =
9)  2² + 2³ = 
10) 10² - 2² =
11) 10² - 3² =
12) 6² - 5² =

